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~ Section 6.3
Introduction to

Linear Inequalities /' ~¥

S 7f et 9 inches 29 inches

£Vl o) What is an inequality? == o

e use inequalities to model situations
that can be described by a
range of numbers instead of a single number.

y "Pick a number greater than 7."
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When one quantity is....
less than < r1

greater than

less than or equal to

30 min
9 AM-6 PM

& v P

Which of these inequalities describes the time,
t minutes, for which a car could be legally parked?

greater than or equal to

IV IN V

t>30 t=30

t<30
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Define a variable and write an inequality for each of the following situation:

SPEED oo I
LIMIT rovte

20

Variable: s, speed

Variable: t, temperature -

Inequality: s <55 Inequality: t<4

Height Restriction

You must be

at least 102 cm
o go on this ride.

Variable: h, height &/ Variable: -

Inequality: h =102 Inequality:
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APTAIN

ANSWER Determining whether a number

Is a solution to an inequality

Is each number a solution of the inequality b= -4~

February 18, 2020

Method 1: Using a Number Line

Show all numbers on a line.

The solution of b > -4 is all numbers that are greater
than (to the right) or equal to -4.

less than -4 greater than -4

For a number to be greater than -4,
it must lie to the right of -4.

a) -8 is to the left of -4, so -8 is not a solution
b) -3.5 is to the right of -4 so -3.5 is a solution
c) -4 is equal to itself, so it is a solution
d) -4.5 is to the left of -4, so -4.5 is not a solution
e) 0 is to the right of -4, so 0 is a solution

-8 35 4

45 0

We can do this in TWO different ways:

Method 2: Use Substitution.
Substitute each number for b in the inequality b = -4.

Determine whether the resulting inequality is
true or false.

a) Since -8 > -4 is false, -8 is not a solution.

b) Since -3.5 > -4 is true, -3.5 is a solution.
c) Since -4 = -4, -4 is a solution.

d) Since -4.5 > -4 is false, -4.5 is not a solution.
e) Since 0 > -4 is ture, 0 is a solution.
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Graphing inequalities
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Graphing inequalities
2<p<3
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Graph each inequality on a number line.
Write 4 numbers that are solutions of the inequality.

a)t>-6 <«

b) -2%x <« Lot >
X &2 S5 -4 -2 -2 -1 0 |

c) 0.6a «+—++—+—t+o+—F+>—+>

q?_og 0"50." 06 O.L,Oﬂ
d p<-28 «—+—+&+—+>+—+—++—+>

3 ‘i}—;ha_ilf) 4 -

>3 3 3 3
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Write the inequality given by the following graph. ¥
" ) Yy

455452101 2 5 4.5 &7 ~-T6-54-3-2-10 1 23 4 5 & T

+ £-|\ L > 2
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Class/iiomework

Page 292-293
Questions: 3(aceg), 4, 7(ac)
8,9, 11a,12,13(aceq)

12
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